Time Allowed - 3 Hours. Model Question Paper, 2021
Set- 11

Subject- ACT
Class - XII'™ (I.Com)

Full Marks- 80

sglamedi uesr Objective questions : 1x20=20
. ATIETR JIH delTell 8 -

a) arferarf b) Eikeh

¢) 3fera: atferart d) 3fora: Twhew

Preparation of Partnership deed is :

a) Compulsory b) Voluntary

c¢) Partially Compulsory d) Partially Voluntary

2. UeldcHidsel U EldTall clTai/&lfel 37gurd HA diel Sfdar & -
a) S cATeT-BTeT 3TFUTd H  b) GRIet 3igara &

) =TT 3TuTd H d)uiita sigura &
Profit and loss on Revaluation is distributed in the ratio of :
a) New Profit and loss ratio b) Old Profit and loss ratio
¢) Sacrificing ratio d) Gaining ratio

3. SRUTUSIETS hUel & ald &
a) =TT b) SeTE=®
c) eeerR d) JAzers
Debenture holders are of the Company :
a) Owner b) creditors
c¢) Debtors d) Guardian

4. fafsrse arer 2 -

a) gsilora uriea b) 3T=reTad Uit
c) U HFIUTA d)ygerd A dIg gt
Specific donation is
a) Capital Receipts b) Revenue Receipts
¢) An Asset d) None of these
5. 3cd == @ e Smar @
a) 3T 3NT =T FATAT A b)uiitd ©d sforarer mar H
c) Ahps JATAT H d)SeTd J BIs =TEl

Outstanding expenses is recorded in :

a) In Income and Expenditure Atc b) In Receipts an Payments Atc
¢) In cash A/c d) None of these



6.

10.

forger =mal & A A URideh 9w & e fo=m o JAhdar & ?

a) 3T T I HTAT b) uTitd ©d  afordrel JTdT
c) cTeT—alter JTaTr d) et I Jaft

Which Account can be written with opening balance?

a) Income and Expenditure A/c b) Receipts and Payments Atc
¢) Profit and Loss A/c d) All of these

II—TT JTAT AHTSITAT fe=dar 2

a) & T /&TfeT b) ABcT AT /ETTeT

¢) ot &Iy d)saTd A HIs &8l

Income and Expenditure Account generally shows :

a) Net Profit/Loss b) Gross Profit/Loss

c¢) Capital Fund d) None of these

TUh ATHATT AT H ATSE=Rl bl 3iferbdar AT & Adhdl o:
a)1o0 b) 20

c) 2 d) 50

In ordinary Partnership Maximum Number of Partners can be:
a) 10 b) 20
c)2 d) 50

User dter auf & a7 I 9,000, T 13,000 derr I 8,000 & | =TTy BT I
NAT AT B 2 auf b hIT UT S :

a) ¥ 81,000 b) T 20,000
¢) T 27,000 d) T 18,000

Profit of last three years were I 9,000, ¥ 13,000 and I 8,000 The value of goodwill at 2
years purchase of average profit will be:

a) < 81,000 b) < 20,000

¢) < 27,000 d) X 18,000

uiiRa 3rgura 2 -

a) STIT  3TFUTA—GRTelT 3gura b) GRIeT 3TgUTd—<rAT 3igfurd
¢) ITOT  ITgUTA—<TT  3Turd d)sadH A PHIs <T@t

Gaining Ratio is :

a) New Ratio-old Ratio b) Old Ratio-New Ratio
c¢) Sacrificing Ratio-New Ratio d) None of these



11.

12.

13.

14.

15.

HUsit A=A 2013 & IFAR, A Huell & 3R Reer @r
ugd TR SieT 3TTaesdh &t

a) &fasr u b) cia®»U/SHeaterz H»a
c)ar ar Afder = Feater »u d)STd A PSSl

As Per Companies Act, 2013 the Balance sheet of Company is required to be Presented
in:

a) Horizontal Form b) Vertical Form
¢) Either Horizontal or vertical Form d) None of these

g 3afer & PHol Th Hdell b 3P Ko & ofid & sz R’me

I

a) ITey, At b) ey, T TRIa

¢) A—are], eThrea d)SeTH A HIs =&l

Short term Borrowings appear in a Company’s Balance sheet under the Head:
a) Current Assets b) Current Liabilities

¢) Non-Current Liabilities d) None of these

sifeiRad eI &l o ST ST @ geldicsdichel Jd & :

a) ST uel & b) STAT TeT H
C)BIS AHT TEl d)gaTd A HIS A&l
Unrecorded Liability will be taken into Revaluation Atc.

a) In Debit Side b) In Credit Side

c) No entry d) None of these
Abs dUdle faazor d=ume fpam orar @

a) 3Mfaiep T=rar b) cATeT—&TeT  JWATAT
¢) 3tfaiReaa IJ@ed d) 3udaa et
Cash Flow statement is prepared from?

a) Balance Sheet b) Profit & Loss A/C
¢) Additional Informations d) All of these

3meel dvar 3rgua @

The ideal liquid ratio is :

a) 2:1 b) 1:1
c) 5:1 d) 4:1



16.

17.

18.

19.

20.

21.

22.

23.

a) 3Tfefep T=rar b) 3m=r fera=or

¢) uf3daTetel &meT d) ferfer=ror
Statement of profit and Loss is also called?

a) Balance Sheet b) Income Statement
¢) Operating Profit d) Investment

SRUTOSIT U2 &ITol bl €3 ardr 2 |

Rate of Interest on Debenture is :

a) 12% P.a b) 20% P.a

¢) Fixed Rate (GifsTa a3) d) 15% P.a

U BFTel BT ..o grar &1

a) gerds Yol JTd b) z=m=it Sitasr

c) Afera e d) Ui/ afY

A Company has ...............

a) Separate Legal Entity b) Perpetual Existence
c¢) Limited Liability d) All of these

A,B3T C1/2:1/3:1/6a 3igurd & o1 dicd &1 C 3Tawhrel J&ul FHal

21 wiiRg 3rgura e -
a) 2:1 b) 2:3
C) 3:2 d) 1:2

A, B and C share the profit in Ratio 1/2 : 1/3 : 1/6. C retire than gaining Ratio is :

a)2:1 b) 2:3

C) 3:2 d) 1:2

Yol cdidsel JATAT ............ & FAATST BT B |

a) GITeT—&TfeT  JAATNGIeT  JATAT b) STeT—&TTel  JTAT
c) arelt d) a3gett mar

Revaluation Account is alike to a :
a) Profit and Loss Adjustment Account b) Profit and Loss A/C

¢) Both d) Realization A/C
Rear zemrer a3 Fill in the blanks :- 1x12=12
ATDSTS TTATT H ATISTE BT SR ... BT 21
In partnership the liabilities of the partneriis .............
ATENMROTAAT SROTAST .......... B &1

Ordinarily debentures are ..................
SRUTUST & oNelad bl 31ef B, hUel R RUTTS bl AT Bl ...........

Redemption of debentures means ............ of the amount of debentures by the

Company.



24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

ATy, 3guTd & feTu smeel s ... EX

Ideal ration for current ratiois ..............

AR hI TTel, JATAT Il AU, Sd YOIl oo, &l
Current Account of Partner should be opened, when capitals are ..............
Uit o2 =l BH B AT .. EX
For the firm, interest on capital is .............
3T =TUIRes A3t & 3iferepior de—aa .......... I B
Most transactions in non-trading concerns are in
anffes RIes & a=&F &1 BT ... BET ST B |
Right side of Balance sheet is called ..................
HABT ATH 3UTd = ............ x 100
ufRaretel A 3T
Gross profit Ratio=............ x 100

Revenue from operation

BT Torehl = sldbe Tarehl + ooveen.ne.

S

Total Sales = cash sales + ...........
BT P AN AMAB ......... &1
......... are the real owner of the Company
TUdh BUeH ............ ST g7 SIar 8 |
A Company is created by ..................

aifer org 3T wesr Very Short Answer Type questions:- 2x8=16

TecT =T B ?

What is Subscription ?

3Moiiael AeTdT QJods o=T & ?

What is life Membership fee?

HATSSTST B ST 3MadeAb dod IdTd |

List any two essential elements or features of Partnership.

X, Y,Od ZARDST &1 Sf 4: 3: 2 A ATH-a&MT dled &1 319 sfasy &
3c8lel WRIEAT cTH-&Ifel dfcel &1 fereasr T | Iatasr =meT a1 arad
31eUTd STd ehITSTU |

X,Y, and Z are Partners sharing profit and losses 4:3:2 Now they decided to share profit
equally in future. Calculate their Sacrificing or Gaming Ratio.

ATHATST AT BT ATSER— b g [aazor & v oeta ufafie difse
Give the journal entry to distribute general reserves among partners.

3ieT &OT JTAT o=IT B ?

What is forfeited share Account?

SRUTTSl <RIT & ?

What is debentures?

JAebs Udars faavor i duR har Sirar @ ?

What is the objective of preparing cash flow statement ?




41.

42.

43.

44.

45.

g 3T ues Short Answer Type questions :- 4x4=16

Uiitd Ud oTdlel ST daT 3MIT-<™T JTdl A his dR 3ide Idrd |
State any four differences between Receipts and Payments Accounts and Income and
Expenditure Atc.

()X 3N YARDER & oY 7:3 & 3(gurd A o1 fJeireiead 2 &1 Z &Y
gder fEom Smar &1 ewm ARP@ER 39en 1/10 Far gola: X JF oura
HAT B

(i) A 3R BIARDER & S 3:2 & 3iguld A o7 BT [JaTetel B &1
Cor /5783 & U uder 3a € off 98 B Urd &Hdar & |
STH-TIATSIST BT =T 3TguTd  TSTBITAC |

(1) X and Y are Partners sharing profits in the ratio 7:3 was admitted. The new Partner
acquires his 1/10™ share entirely from X.

(i1)) A and B are Partners sharing profits in the ratio of 3:2. They admitted C for /5"
share which he acquires from B.

Calculate new profit sharing Ratio.

X, Y 3R Zdla AEer & o ari-a sifer dr 2: 2: 1 P IAgurd H
fIanfoiad e2ad 21 Y 31aehrel I&ur hdl & 3T BA bt =fd Rs. 60,000
UT Fcifhd @I Gl &1 WA B gIddl H dhig JAMd JMar Ueidia
gl B Tmfa & faU 3raeus Seda ulaftewt SHifsiel o9 Ssice
HATGTH 26 & IFAR JANT  JTAT DI ARERT & Yot JMd H
FATNTSIT T Siar &

X, Y & Z are three partners sharing profits & losses in the ratio of 2: 2: 1. Y retires &

goodwill of the firm is valued at Rs. 60,000. No goodwill Account appears in the books
of the firm. Pass necessary Journal entries for good will. When goodwill A/C is adjusted
through partners Capital Account  (AS-26)
aief, FUTd 2.5 &1 wriefier ot Rs. 60,000 21 aTef, JAufer=il dem dref,
TRl @t AR ST HIfSw |
Current ratio is 2.5, working Capital is Rs-60,000 Calculate the amount of current Assets
and current liabilities.

&t 3T uest Long Answer Type questions:- 8x2=16
X fe1. o Rs. 100 @tet 10,000 3ieT 10% WAz ur feeifda feu i afer
foTdet Uhe < oft
(X 1td Issue 10,000 shares of Rs. 100 each at a premium of 10% Amount was payable as
follows:)
3fdesl uT On Application Rs. 30 ufer 9r=12 (Per share)
3faes U< On Allotment Rs. 40 ufay o=z (hfdar afga)

(Per share including premium)

JraeT gz On Calls Rs. 40 ufer =1 (Per share)
Haft 3ol Bt farebr & o8 Ud 200 3i9f bl Bigsh Toleuz 3fMadce T
ATTAT BF APDT UTed Tél Jhl, AW 3felf uz IAFHAAT AT ured & o9rs |
200 3ielf Pl HUsl & JAATeIh! FRT &I0T BT fTAT 91T |



46.

HUST B GIddhi H AUSEHAT BI 3aeds ufditeat oo |

All the shares were subscribed for and installments received on due date with the

exceptions of allotment and calls on 200 shares. Which were forfeited by the directors of

the company. Give journal entries in the books of the company.

Statement of Financial Position of Mr. X are given below:

Additional Intormations :-
i) s 3MM&3urT =&l 2 (Thre were no drawings)
i) oTaer =7 o=t Jufast &1 BIs B a1 faeew @ e

There was no purchase or sale of either building or fixed assets.

Jeretel T3l ERT ks UdTE bl II0TaT dHioTy

Calculate cash flow from operating Activities.

iR 1.4.2019 | 31.03.2020 | Fufer=it Assets 1.4.2009 | 31.3.2020
Liabilities
doit Capital | 7,39,000 | 6,15,000 3Td<l Building 1,00,000 | 80,000
TRt JAufa=It
Fined Assets 6.00,000 | 5,00,000
T JTT 29,000 | 25,000 eieTz Debtors 20,000 | 17,000
Accounts zafar=m Stock 8,000 | 13,000
Payable Cash J<hs 40,000 30,000
768,000 | 6,40,000 7,638,000 | 6,40,000
CINIESSEE CEllel




